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1. Which one of the following is polynomial?

A z? +y2
1
B.z? + —
72

Cz+,z

D.m3+a:2—|—x

Answer:



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RyV0LQ0MuEU3
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2. Using remainder thereom, find the reaminder when (i) 2t + 23+ 2% s
divided by (x+2)

(ii) % + 2 + 1is divided by (x-3)

o Watch Video Solution

3. Factorization of Polynomial or expression-

ra +ya +xz + yz

o Watch Video Solution

4. Factorization of Polynomial or expression-

2 + 5z + 6

° Watch Video Solution



https://dl.doubtnut.com/l/_RyV0LQ0MuEU3
https://dl.doubtnut.com/l/_TektXfksYaTz
https://dl.doubtnut.com/l/_WpqFwBnsJ7eI
https://dl.doubtnut.com/l/_PCH7KbdEAgxX

5. Factorization of Polynomial or expression-

z? + Tey + 12y

° Watch Video Solution

5x? —3y? 11 . T
6.1f ——— = ——, find the positive value of —
zy 2 Y

o Watch Video Solution

7. Which one of the following is not a factor of this

S+ zt 412
A.(m2+1+m)
B.(a:2+1—:c)

C. (a:4 +1 —332)

Dzl —1+z

polynomial


https://dl.doubtnut.com/l/_Cshk9lMBbJCM
https://dl.doubtnut.com/l/_Dm5fEwoS0Fs2
https://dl.doubtnut.com/l/_OewdPILzkivz

Answer:

o Watch Video Solution

8. Find ol + b ifz =a?+b® and y = aby/2
. a? — aby/2 + b2’

Az +y

B.x — 2y

Cz—y

D.xz + 2y

Answer:

° Watch Video Solution

9.0fa* + o’ + b* = 12,a%> + ab+ b* = 4,find ab

° Watch Video Solution



https://dl.doubtnut.com/l/_OewdPILzkivz
https://dl.doubtnut.com/l/_s4vZa1hS51pe
https://dl.doubtnut.com/l/_V6UbeRkOSm07

10.1fa* + a®b® +b* = 8,a> + b + ab=4find ab

o Watch Video Solution

Mifz? +4* =19 and z + y = 1 find 2%y? — 2zy

o Watch Video Solution

12.Factorof 22 — 226 — 2 + 1

A.(z — 1) butnot (z + 1)
B.(z + 1) but not (z — 1)
C.both (z + 1) and (x — 1)

D. Neither (z + 1) nor (z — 1)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SY70C4BDWttW
https://dl.doubtnut.com/l/_W76Yz4ePldRZ
https://dl.doubtnut.com/l/_LmD0mdj3mCVI

13.1f (z — 2) is a factor of polynomial * + kz + 4. Find the value of k

° Watch Video Solution

14.1f 2° + az® + 2z + 3is exactly divisible by (z + 1). Find the value of a

° Watch Video Solution

15. If (z + 1) and (z — 1) are factor of az® + bz® + 3z + 5. Find the

valueofaandb

° Watch Video Solution

3

16.Find (z +y+2)° — (e +y—2° —(y+z2—2)° - (z4+z—y)°

A. 24xyz

B. 27 xyz


https://dl.doubtnut.com/l/_LmD0mdj3mCVI
https://dl.doubtnut.com/l/_hkQTIPRl6Hqn
https://dl.doubtnut.com/l/_norXqqzgzJF3
https://dl.doubtnut.com/l/_k2L8gWDQteZm
https://dl.doubtnut.com/l/_dCs95mqFYRLQ

C. 3xyz

D.O

Answer: A

o Watch Video Solution

x2 —Tx + 15 .
17. po— , find remainder

o Watch Video Solution

18.1f 2° + z + 4 s divided by (z — 1), find the remainder

o Watch Video Solution

19.1f z'! + 3is divided by (z + 1), find the remainder

o Watch Video Solution



https://dl.doubtnut.com/l/_dCs95mqFYRLQ
https://dl.doubtnut.com/l/_Dq4qHBODpY9c
https://dl.doubtnut.com/l/_r1E8WOScuSnG
https://dl.doubtnut.com/l/_VnDhigQ8CK9D

20.If 25! + 51 is divided by x+1, then the remainder is

o Watch Video Solution

21.1f 2% + 3is dividied by z* + 1, find the remainder

o Watch Video Solution

22. 2% + 3is divided by z° + 1, find remainder

o Watch Video Solution

23.1f 2% + b + 7 is divided by (z — 1) leaves remainder 12 find b?

o Watch Video Solution

24.1f 222 + kx + 8 is divided by (z + 2) leaves remainder 3k find k =?


https://dl.doubtnut.com/l/_mncmtbn0R8Ib
https://dl.doubtnut.com/l/_b4fmoPMmAW8P
https://dl.doubtnut.com/l/_W3M3y8Fw7RXf
https://dl.doubtnut.com/l/_zEA7TMGxiXsr
https://dl.doubtnut.com/l/_FNsVUvG1otdX

° Watch Video Solution

25.2% + 4z + kis divided by (z — 2) leaves remainder 2x, find k

° Watch Video Solution

26. Find the HCF of the polynomial

30(z® — 3z + 2) and 50(z® — 2z + 1)

° Watch Video Solution

27. Find the HCF of f(z) = 33(2z + 3)*(3z — 4)*(4z — 5)* and

g(z) = 22(z +1)(2z + 3)(4z — 5)2(4x2 —9)

° Watch Video Solution



https://dl.doubtnut.com/l/_FNsVUvG1otdX
https://dl.doubtnut.com/l/_osN5Ig82qWGT
https://dl.doubtnut.com/l/_2cI8yrFZGrBK
https://dl.doubtnut.com/l/_eetppvCI7tp2

28. Find the HCF of the polynomials

f(z) = 6($3 + 3m2) (a:2 — 16) (acz + 9z + 18) and g(z) = 8(134 + 4:1:3) (m:

° Watch Video Solution

29. Find the LCM of the polynomials

f(z) = 4(z — 1)*(z + 1)*(2* + 6z + 8) and g(z) = 10(z — 1)(z — 2)(z*

° Watch Video Solution

30, Find the wvalue of b for which the HCF  of

z? 4 2bz + 3b+ 3 and z® + = — Bbis (z + 5)

° Watch Video Solution

31.Find the LCM and HCF of the polynomials P(z) = (z + 1)*(z + 2)

Q(z) = (z + 1)(z - 2)

| e |


https://dl.doubtnut.com/l/_ZXjgYKC1GFTL
https://dl.doubtnut.com/l/_ccLRfCbXhuk0
https://dl.doubtnut.com/l/_QdLoPTbOhUaL
https://dl.doubtnut.com/l/_E6q3ndbpavSC

I & Watch Video Solution

32. If HCF and LCM of two polynomial P(x) & Q(x) is
(a + 1) and a® + a® — a — 1 respectively if P(z) = (a2 — 1), find Q(x)=

?

° Watch Video Solution

33. Find HCF of z® + 322y + 22y and z* + 623y + 8z%y?

° Watch Video Solution

34.Find HCF of 10z° — 1022 — 52 + 9 &30z° — 6122 — 24z + 10

A 31z% + 29z + 17

B.31z% + 9z + 17

C.31z% — 9z — 27


https://dl.doubtnut.com/l/_E6q3ndbpavSC
https://dl.doubtnut.com/l/_KYX3F49BuY1x
https://dl.doubtnut.com/l/_pfYdVBa5etzi
https://dl.doubtnut.com/l/_ZTbaUusbbpoD

D.30z2 — 11z + 11

Answer:

° Watch Video Solution

35.Find the Quadratic equation whose one root is 3 + /3

° Watch Video Solution

36. Two roots of equation of 2z? — 7z + 12 = 0 are o &f then find

a B
Tt =7

o Watch Video Solution

37.What is the product of the roots of the equation z* — /3 = 0?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTbaUusbbpoD
https://dl.doubtnut.com/l/_uPiZOGxeITRv
https://dl.doubtnut.com/l/_2MpI4d7dR9A6
https://dl.doubtnut.com/l/_GI75cSv2YVie

38. If the equations z>+2z —3 =0 and 2> + 32z —m =0 have a

common root, then the non- zero value of m.

° Watch Video Solution

39. For what value of m equation 4z* + 6mz + 9 = 0 have equal roots

° Watch Video Solution

40.If o & P are the roots of equation az? + bz + ¢ = 0 then find the

quadratic equation whoserootsarea +1 & B +1

° Watch Video Solution

41.If o & J are the roots of equation ax? + bz + ¢ = 0 then find the

1
Quadratic equation whose roots are — & —

o B

° Watch Video Solution



https://dl.doubtnut.com/l/_HyfhkR334tBh
https://dl.doubtnut.com/l/_n1lNsWyZV2kv
https://dl.doubtnut.com/l/_IRxAXDk24XFy
https://dl.doubtnut.com/l/_0jgzxdNxdUo3

42.If o & p are the roots of equation az?® + bz + ¢ = 0 then find the

quadratic equation whose roots are o® & [3?

° Watch Video Solution

3. If /322 -120+19+ /322 — 12z —11 =16 then find

V322 — 12z + 19 — /32> — 12z — 11=2

° Watch Video Solution

44, If x = 2 — 2§ + 2§ find the value of 2% — 622 + 18z + 18

A. 22
B.33
C.40

D. 45


https://dl.doubtnut.com/l/_0jgzxdNxdUo3
https://dl.doubtnut.com/l/_y1n1fCO9R1I0
https://dl.doubtnut.com/l/_QutGa0znxG4p
https://dl.doubtnut.com/l/_MWlh4Pc9Blw2

Answer: D

° Watch Video Solution

45.I1fx —y = m—gl—y = %then value of xy="?

now >

o
Wl = ol o ol
= 5le o |

Answer:

° Watch Video Solution

46. If the ratio of roots of equation lz? + nz +n = 0 is p: q then find

the value £+ g—i— 2=?
q p Vi



https://dl.doubtnut.com/l/_MWlh4Pc9Blw2
https://dl.doubtnut.com/l/_PnkGXj8gaoCY
https://dl.doubtnut.com/l/_RkTmz2Qw73Va

Al

B.2

C.3

D.O

Answer:

o Watch Video Solution

47.fa +b+c=6,a> + b*> + ¢ = 16,find ab + bc + ca=?

o Watch Video Solution

1 1 1
48.a +b+c=3, —+ —+ — =2
a b c

a’> + b + ¢ = 6 find abc=?

o Watch Video Solution



https://dl.doubtnut.com/l/_RkTmz2Qw73Va
https://dl.doubtnut.com/l/_7cHQHEeKLKjv
https://dl.doubtnut.com/l/_T9GAOAUcfPIv
https://dl.doubtnut.com/l/_ayVCBoooBQCU

49.1fa® + b = 0finda + b =

A.v/3ab
B. v/2ab

C.3ab

D. v/4ab

Answer: A::B::C

o Watch Video Solution

50.1fa* + b* = a2b? find a® + 85

o Watch Video Solution

q

51|fp+ +—_1 & 242
b p

b
q

2 2 2
+——0ﬁndp—+Z—2+r——?

° Watch Video Solution



https://dl.doubtnut.com/l/_ayVCBoooBQCU
https://dl.doubtnut.com/l/_JUTGrHBV7Yru
https://dl.doubtnut.com/l/_mlNEgHALNFqY
https://dl.doubtnut.com/l/_RT9i44u1g7SC

52.Given =z 4+ y = 2z, then

B.1

C.2

D.3

Answer: B

° Watch Video Solution

53.Given x + y = 2z, then

B.2

C.3


https://dl.doubtnut.com/l/_RT9i44u1g7SC
https://dl.doubtnut.com/l/_N6TjCXN3qsJB

D.4

Answer: A

° Watch Video Solution

1 1 1
54.If ¢ + 5 =1landy+ S = 1 then find the value of z 4 =

° Watch Video Solution

1 1
55.Givenz + — = 1 and y—l—; = 1find
Yy

xyz=?

° Watch Video Solution

1 1
56.Givenx+§ =1 and y—l—; = 1find

(z+y+2)+ 1+1+1 =?
rrYTET\z Tyt z) 7

o Watch Video Solution



https://dl.doubtnut.com/l/_N6TjCXN3qsJB
https://dl.doubtnut.com/l/_o9Fhbi6PJHBp
https://dl.doubtnut.com/l/_A8XKTQieZFjP
https://dl.doubtnut.com/l/_vPkNu3B7TdYB

57.(:13%—%) = (y—i—l) = (z+%) and (z # y # z) find xyz=?

C.£1

D.3

Answer: C

o Watch Video Solution

a—2>b b+ec c—a
58. If +
c a b

1 1 1
ArTE T

1 1 1
"7t e

1 1 1
=23

=1 and (b+ ¢ # a)



https://dl.doubtnut.com/l/_vPkNu3B7TdYB
https://dl.doubtnut.com/l/_QAumd9XBzS4U
https://dl.doubtnut.com/l/_tmrlXuiSXO2u

D. None of these

Answer: A::B::C

° Watch Video Solution

59. Given pg + gr + rp = 0 find

1 1 1
+ = +———=7?
—gqr qg- —Tp re —pq

p2

° Watch Video Solution

60. Given pqg + gr + rp = 0 find

p2 q2 T2

+ — + — =7
—q  ¢-tp TP—pg

° Watch Video Solution

6lLIfa” = (z+y+2)%,a = (z +y+2)°, a°

(x +y+ 2)", then:



https://dl.doubtnut.com/l/_tmrlXuiSXO2u
https://dl.doubtnut.com/l/_c5OxAbgnnCVJ
https://dl.doubtnut.com/l/_ZA9ZGcQDJUcs
https://dl.doubtnut.com/l/_dg1Or6ICG1UN

Aonly(z+Y +2) =a

Bx=y=z2=

wl|e

Answer: A::C

o Watch Video Solution

62Ifz(z+y+2) =4,ylx+y+2) =16 and z(xz +y+ 2) = 29 and

X, y & z are positive numbers. Find x, y & z=?

o Watch Video Solution

63.1f (z +y)> =21+ 22, (y+2)> =32+ 2% and (2 + z)* = 28 + ¢,

findz + y + 2=?7

o Watch Video Solution



https://dl.doubtnut.com/l/_dg1Or6ICG1UN
https://dl.doubtnut.com/l/_sJ58Y1egNQtc
https://dl.doubtnut.com/l/_AouZ4gekhbLq

1
64.I1f x + P 2, find

1
$11+ - =72
1l

o Watch Video Solution

1
65.If ¢ + P 2, find

112 1
112

o Watch Video Solution

1
66.If m + = 4, find
m — 2
1
(m—2)111—|—— =7?
(m . 2)111

° Watch Video Solution

67.1f m +

L 4 find
g — &M

m —

m? +m + 1=2



https://dl.doubtnut.com/l/_WPclvLfiel06
https://dl.doubtnut.com/l/_9ipzzbnQOqEm
https://dl.doubtnut.com/l/_fGC42DZOibH7
https://dl.doubtnut.com/l/_80MoGwQaU8K6

| o Watch Video Solution

68.I1f m + = 0 find

m + 2

1
b=

)112
(m + 2)112

(m + 2

° Watch Video Solution

1
= 0 find
m + 2

69.1f m +

mt 4+ m3 +m? +m+1=2

° Watch Video Solution

1
70.If ¢ + = = —2,find

1
3311 4= ?
1l

° Watch Video Solution



https://dl.doubtnut.com/l/_80MoGwQaU8K6
https://dl.doubtnut.com/l/_OT9bJrhLbxTC
https://dl.doubtnut.com/l/_zVpTQGghh7GP
https://dl.doubtnut.com/l/_uGqyUSnIok8T

1
Nifx + —
T

— 2, find
112 1 — 9
112
o Watch Video Solution
1
72.If ¢ + i 2, find
o112 1 ?
2113
o Watch Video Solution
1
73.If x + = — 2, find
1
11
X + E 7
o Watch Video Solution
74.If = —4,f
m + ——) , find
1
(m + 2)" + =2

(m + 2)111



https://dl.doubtnut.com/l/_3txr9Dn2baj6
https://dl.doubtnut.com/l/_1JyLJOOJLywl
https://dl.doubtnut.com/l/_qDnngRLHHFkp
https://dl.doubtnut.com/l/_iUN3rpwdpv38

| o Watch Video Solution

1
75.1f m + p— = —4,find

m? +m + 1=2

o Watch Video Solution

76.1f m +

1
—> = 0, find
(m_2)11

° Watch Video Solution

77.1f m +

1
= 0, find
m — 2

m5+m4+m3—|—m2+m+1=?

° Watch Video Solution



https://dl.doubtnut.com/l/_iUN3rpwdpv38
https://dl.doubtnut.com/l/_Q1uaS8azVQJw
https://dl.doubtnut.com/l/_SbD4iX2WmsKK
https://dl.doubtnut.com/l/_CWuwKnA6ey75

1
78.If ¢ + P 1, find

o Watch Video Solution

1
79.1f x + P 1, find

1
2+ =5 =
X

o Watch Video Solution

1
80.If x + P 1, find

1
B+ — =
223

o Watch Video Solution

1
8l.Ifx + = =1, find

1
210



https://dl.doubtnut.com/l/_8VfGH2jhWbZM
https://dl.doubtnut.com/l/_QjsdNnIeZjwC
https://dl.doubtnut.com/l/_vLCArt7LwFmy
https://dl.doubtnut.com/l/_nwZNhihHcExk

| & Watch Video Solution

1
82.If x + p 1, find

m103+m100+m90+w87+w60+w57+w9+m6+m3+3:

o Watch Video Solution

1
8.Ifz + P 1, find

8 + 2% + 2% 4+ 2% + 2% + 2% 4 2? + 2% 4 222

o Watch Video Solution

1
84.Ifa+; — —1finda® +3=?

o Watch Video Solution



https://dl.doubtnut.com/l/_nwZNhihHcExk
https://dl.doubtnut.com/l/_gRvUtXEJRfIF
https://dl.doubtnut.com/l/_2xctujyIzoMw
https://dl.doubtnut.com/l/_i6H2DKKBfWwx

1
85.If:1:—|—; = —1find

1
$12+T:?
T

o Watch Video Solution

1
86.If:1:—|—; = —1find

1
21227—|——2:?
$7

o Watch Video Solution

1
87.Ifx—|—; = — 1find

1
$25+—2:?
$5

o Watch Video Solution

1
88.If:1:—|—; = —1find

1
ZL‘lO + —1=?
T 0



https://dl.doubtnut.com/l/_5x9gGXZfxvZr
https://dl.doubtnut.com/l/_yTlHdRjbRf9E
https://dl.doubtnut.com/l/_isy8NskUeYr6
https://dl.doubtnut.com/l/_Hv0gMx4O7yKG

| & Watch Video Solution I

1
89.If:1:—|—; = —1find

BT R  JST RN | B S

o Watch Video Solution

90.z18 + 22 =0,y +y* =0

o Watch Video Solution

1 —
9l.Ifz + el /3 find

1:506 + 33500 —|—$206 —|—£L’200 + 1:100 —|—JJ94 —I-JISO +JI44 —|-1118 +w12 —|—$6 +3

o Watch Video Solution



https://dl.doubtnut.com/l/_Hv0gMx4O7yKG
https://dl.doubtnut.com/l/_sJ2eR0t3DDvq
https://dl.doubtnut.com/l/_ZfiSvskuzB0r
https://dl.doubtnut.com/l/_oJRG724QTTvZ

1
92.1fz + — = /3find

x67+x53+x43+m29+m24+m18+m6+3

o Watch Video Solution

1 —
93.If x + pl /3 find

$54+$30+$18+$6+4

o Watch Video Solution

1 —
94.If x + P v/3 find

102 1

T
102

o Watch Video Solution

1 —
95.1f x + p /3 find

1
2+ —5
.’138



https://dl.doubtnut.com/l/_X11uO5ME8dWL
https://dl.doubtnut.com/l/_C6couSfXOLBb
https://dl.doubtnut.com/l/_s2lks5CR5gBw
https://dl.doubtnut.com/l/_T3jRX79NoJ0E

| & Watch Video Solution

1 —
96.If x + pl /3 find

1
2+ —
€T

o Watch Video Solution

1 —
97.If z + P /3 find

1
T

o Watch Video Solution

1 —
98.1f x + pl /3 find

1
T

o Watch Video Solution



https://dl.doubtnut.com/l/_T3jRX79NoJ0E
https://dl.doubtnut.com/l/_FSPwtNJdTiu9
https://dl.doubtnut.com/l/_DGzxOOyFw1tG
https://dl.doubtnut.com/l/_mDF4kwXCPa0F

1 —
99.If x + pl /3 find

117 1

T
117

o Watch Video Solution

1 _
100.1fz + — = — /3find

1
T

o Watch Video Solution

1 —
1011fz + ~ = v/3 find

1
T

o Watch Video Solution

1
102.If x + = = 3, then



https://dl.doubtnut.com/l/_TjFS2TbEQMYh
https://dl.doubtnut.com/l/_TVo7Tg3kTnON
https://dl.doubtnut.com/l/_5H1XqKDMiSzd
https://dl.doubtnut.com/l/_9VHoZunTQglQ

| & Watch Video Solution

1
103.If ¢ + = = 3, then

1
3
z® + —=?
3

o Watch Video Solution

1
104.If ¢ + = = 3, then

1

4

zt+ —=7?
m4

o Watch Video Solution

1
105.1f ¢ + = = 3, then

1

5

z’ + —=?
5

o Watch Video Solution



https://dl.doubtnut.com/l/_9VHoZunTQglQ
https://dl.doubtnut.com/l/_L5ODz2LWCwXH
https://dl.doubtnut.com/l/_5WUVw2YUhS9j
https://dl.doubtnut.com/l/_FRizzkJRLCE8

1
106. If ¢ + . = 3, then

1

6

T+ — =7
6

o Watch Video Solution

107. If =45 and x is positive

number

find

° Watch Video Solution

1 1
108.If z* + — = 322find zs — — =7
XL XL

° Watch Video Solution

109.1f (z —a)(z —b) =1 & a—b+5=0fnd (z —a)’ —

=7

(¢ —a)’



https://dl.doubtnut.com/l/_iFNyp4cxUjW7
https://dl.doubtnut.com/l/_6ZyhgPx0kjpt
https://dl.doubtnut.com/l/_5L1BlSgA1fwA
https://dl.doubtnut.com/l/_SLpZ9w276M8h

A. 125

B. —125

C.o

D. 140

Answer: A::D

o Watch Video Solution

1M0.1f (z —1)* + (y— 2)> = Othenz + y = ?

o Watch Video Solution

M.1f (a — 2)° + (b—3)> + (¢ — 11)> = 0find Vva+b+c?

A4

C.t4


https://dl.doubtnut.com/l/_SLpZ9w276M8h
https://dl.doubtnut.com/l/_vUw4gSvdX8fw
https://dl.doubtnut.com/l/_2GQyWwVBkkaj

D.16

Answer: D

° Watch Video Solution

M2.1fa®> + 0> +c =2(a—b+c) —3thenfinda — b+ c=?

° Watch Video Solution

13.1fa® + b + ¢ = 2(a +2b — 2c) — 9thenfind a + b + c=?

° Watch Video Solution

114.1f 522 + 42y + y> + 2z + 1 = 0 then find the value of X, Y

° Watch Video Solution



https://dl.doubtnut.com/l/_2GQyWwVBkkaj
https://dl.doubtnut.com/l/_JNY8OWMvUPrf
https://dl.doubtnut.com/l/_JX4ExP4DfCFs
https://dl.doubtnut.com/l/_hoIswXk3fY3u

1M5.0F 2 + % + 2% + 122 + 4y + 5 = 0 find z'% + y + 230=2

o Watch Video Solution

6. If (z4+y—2—-1°+Gz+z—y—2 +GzZ+y—z—4>=0

findx + y + 2=?

o Watch Video Solution

117.1f a= 297, b= 298, c= 299 and find a®> + b + ¢ — ab — bc — ca ?

o Watch Video Solution

18.0Fa2 L 12+ & — ab 4 be + ca find 2 S22

o Watch Video Solution



https://dl.doubtnut.com/l/_ogjb6EzAXuRS
https://dl.doubtnut.com/l/_PJ8RgsN2g7Yr
https://dl.doubtnut.com/l/_EczUxTviuzUu
https://dl.doubtnut.com/l/_4dlWzo4SYsWl

19.1fa® + b + ¢ = ab + bc + ca then

a-+b b+ ¢ c+a
+ + =

?
c a b

o Watch Video Solution

120.1f a® + b% + ¢ = ab + be + ca then

c b c

=7
a,—|—bJr a,—l—c+ a-+b

° Watch Video Solution

121.1fa’® + b + 2 = ab + be + ca then

C

atb b+c cta c b
< c TTa T ><a+b+a+c

a-+b

)

o Watch Video Solution

a-+b
c

122.1f a + b+ ¢ = 0, then =7

o Watch Video Solution



https://dl.doubtnut.com/l/_Bw0eivA0E6mt
https://dl.doubtnut.com/l/_muCQLioLKwfQ
https://dl.doubtnut.com/l/_QyplGu66ezyH
https://dl.doubtnut.com/l/_bNIrcFp2C99W

123.1f a + b+ ¢ = 0, then

a-+t+b b+ec c+a
+ + =

?
c a b

° Watch Video Solution

124.1f a + b+ ¢ = 0, then

c b a
+ + =7?
a-+t+b a-+tc b+ e

° Watch Video Solution

125.1f a + b + ¢ = 0, then

a

b b b
a -+ n +c+c—|—a C n n
c a b a-+b a-+c

b+ ¢

)

?

° Watch Video Solution

126. If a=b= 333, c=334 find a® + b® + ¢* — 3abc



https://dl.doubtnut.com/l/_bNIrcFp2C99W
https://dl.doubtnut.com/l/_SQRe5vbJB7zf
https://dl.doubtnut.com/l/_weHNx4hkrIrP
https://dl.doubtnut.com/l/_wQEQdIvG4jIR
https://dl.doubtnut.com/l/_Rb2rYccVwDIU

| @ Watch Video Solution

313 . 03
127.1f a= 20, b= 25, c= 15 find &0+ ¢ —3abe  _,
a?+b24+c2—ab—bec—ca

° Watch Video Solution

a® + b + A — 3abe

128.If a= 25,b=15,¢c = — 10 then 5 5 5
(a—b)"+(b—0¢)" 4+ (c—a)

° Watch Video Solution

129.1f a® + b® + ¢® = 3abc and a, b, care distinct numbers. Which option
is correct?

(@)a+b+c=0(b)a=b=c

° Watch Video Solution



https://dl.doubtnut.com/l/_Rb2rYccVwDIU
https://dl.doubtnut.com/l/_73hNseo2SIpl
https://dl.doubtnut.com/l/_IsItzb7RlgDO
https://dl.doubtnut.com/l/_c0Zn16r2heuP

130. If a® + b° + ¢® = 3abe and a, b , c are distinct nhumbers. Which
option is correct?

(@a+b+c=0(b)a=b=c

o Watch Video Solution

2 bZ 2
BlLifat+bte=0find — + 2 + £ _
be ca a

o Watch Video Solution

1B2.Ifa+b+c=0fnda® + b + & + 3abe

o Watch Video Solution

133.Find (a — b)° + (b—¢)° + (c—a)’ = ?

o Watch Video Solution



https://dl.doubtnut.com/l/_6xdSNF3OEe64
https://dl.doubtnut.com/l/_jFWelZWXgUnH
https://dl.doubtnut.com/l/_ERVEXrIb8vW5
https://dl.doubtnut.com/l/_sneqwPBibjtR
https://dl.doubtnut.com/l/_XHGOqPeg4ixn

(2% — y2)3 + (y* — z2)3 + (22 — 1:2)3

134. Find
(z—9)° +(@y—2)°+(z—2)°

A3z +y)(y+2)(z+x)
B.3(z + v)(y + 2)(z — z)
C(e+ 1)+ )+ )

D.9(z + y)(y + 2)(z + =)

Answer:

o Watch Video Solution

135. What will be factors of (a2 — b2)3 + (b2 — c2)3 + (

A (a+b)(a—1b)
B.(a+b)(a+0)
C.(a—c)(a—rc)

D.(b—c¢)(b—¢)



https://dl.doubtnut.com/l/_XHGOqPeg4ixn
https://dl.doubtnut.com/l/_VJSNVmxa0sJ5

Answer: A::B

° Watch Video Solution

136.1fz +y+2=2sfind (s —z)° + (s —4)° + 3(s — z)(s —y)z = ?

C.0

D. 22°

Answer: C

° Watch Video Solution

137.1f a=121,b=223 & c=-3.44 find a® + b> + ¢ + 3abe=?

A. 6ab


https://dl.doubtnut.com/l/_VJSNVmxa0sJ5
https://dl.doubtnut.com/l/_nvtTliqber30
https://dl.doubtnut.com/l/_zIwkT3ybmCMB

B. 6abc

C.1

D.O

Answer:

° Watch Video Solution

138.1f a= 5.431, b= 2121 & c= — 7.552 find a® + b® + ¢* + 3abc = ?

A. 6ab
B. 6abc
C.1

D.O

Answer: 6abc

o Watch Video Solution



https://dl.doubtnut.com/l/_zIwkT3ybmCMB
https://dl.doubtnut.com/l/_LTpXl3bc0ZCs
https://dl.doubtnut.com/l/_1j8hne6d88X9

139. If a% + bé = cé then which option is correct ?

Add+b 4+ =ab
B.a + b+ ¢c = 3abc
C.(a+b—c)®+27abc =0

D.(a+ b+ ¢)® + 27abc = 0

Answer: A::B::C

° Watch Video Solution

6 6 6
06—
140.1f > + b = ¢ then find —— % — 7
a’b?c?

o Watch Video Solution

141. If 1 + 1 + 1
a+1 1406 1+e¢

a b c
find _7
M T 1y T Tre

| o A _L vl . e~ ..


https://dl.doubtnut.com/l/_1j8hne6d88X9
https://dl.doubtnut.com/l/_pBgjPyhjxRjg
https://dl.doubtnut.com/l/_ROH0ZzRqv6Mu

L vvallll vVIUCO o0IULIVII )]

1 2 1009

142, If = find
z11 T yr2 "z 1009 n
=L
t+1 " y+2 ' z2+1009 °
° Watch Video Solution
waf—2 % ¢ a4 Y L F
x—a y—-b z—c¢ r—a y—-b z-—c
° Watch Video Solution
a 4b 9c
144. If =6— find
21 y_2 7 3¢ “ n
ar n 2y 3z )

z—1 y—2b+z—3c_

° Watch Video Solution

a b c a? b2 2
145, If = 1 find =
b+c+6—|—a+a+b b+c+c+a+a+b

| o A _L vl . o ~_ ..o

?



https://dl.doubtnut.com/l/_ROH0ZzRqv6Mu
https://dl.doubtnut.com/l/_sWUiK9vuX9MI
https://dl.doubtnut.com/l/_Lv1ERQkwvxgB
https://dl.doubtnut.com/l/_tlwDdRNorGxw
https://dl.doubtnut.com/l/_hnZ3swShnUiB

L vvallll vVIiUCO o0VIULIVII

a® — be b — ac ¢ — ab

146. If + + =1 then find
a? + be b2 + ac cz + ab
a? b? c?
- - =7
a? + be b2 + ac c2 + ab
° Watch Video Solution
147. Given, a>=b+cebP=c+a & c=a+b or
a? B b2 B 2 _1
b+c c+a a+b
find 1 + ! + . ?
n = 7
1+a 1+0 1+¢
° Watch Video Solution
148. Given, a>=b+c b =ct+a & c=a+b or
a? B b? B c? _q
b+c¢c c+a a+b
find a n b n c ,

1ta 1456  1+tc

° Watch Video Solution



https://dl.doubtnut.com/l/_hnZ3swShnUiB
https://dl.doubtnut.com/l/_5uLVSjPzzMjw
https://dl.doubtnut.com/l/_5Th49xG2N4Tx
https://dl.doubtnut.com/l/_NMGeTSV1rcuL

A L
"bytcz axtcz artby

a n b n c _,
rt+a y+b z+c

14

o Watch Video Solution

2 2 2
Y Z  _1fnd
by + cz ar + cz ax + by
x y z

a:+a+y+a + ztec

150,

o Watch Video Solution

.’132 y2 22

151. If = = =
by + cz axr +cz  ar + by

a n b n c
T+ 2a y+ 2b z24+2

° Watch Video Solution

2 2 2

x Y z
152. If = = =
by + cz axr + cz azx + by

T
t+2a  y+20  z+2

2



https://dl.doubtnut.com/l/_Rh6YAnuZYZav
https://dl.doubtnut.com/l/_fpoxWQFR9IcZ
https://dl.doubtnut.com/l/_Xb7oXfSTiPra
https://dl.doubtnut.com/l/_oWF6Vhg45CAr

° Watch Video Solution

r+y Y+ z z—|—w_?
l—-zy 1—-yz 1—2z2zx °

153.If zy + yz + 2z = 1 find

° Watch Video Solution

NGE r V0wV

154.If t = —— , then

, +
5++/3 z—+/20 z—+/12

?

° Watch Video Solution

155.I1f z = L ,Y = L then find 1 + !
V3+4/2 V3 — 2 z+1 y+1

A.0

B.1

C.2


https://dl.doubtnut.com/l/_oWF6Vhg45CAr
https://dl.doubtnut.com/l/_2WpftpIsYs9P
https://dl.doubtnut.com/l/_K44RsxytWUKn
https://dl.doubtnut.com/l/_kZmWuknKUt6a

Answer: A

° Watch Video Solution

VBV VB

156. If ="V & y="2"TV"  then
V55 + /39 V55 — /39
1
= ?
zr1  gr1

find

o Watch Video Solution

157. What wil be the minimum value of 12 + (& — 2)* ?

o Watch Video Solution

158. What will be the maximum value of 15 — (z — 3)*?

° Watch Video Solution



https://dl.doubtnut.com/l/_kZmWuknKUt6a
https://dl.doubtnut.com/l/_cwzU1Zqm9drp
https://dl.doubtnut.com/l/_KgK2Qx8mSGzL
https://dl.doubtnut.com/l/_CBqGkBF2GR3l

159.1f 5 — (3a — 2b)% will be max™, when %:?

o Watch Video Solution

160. Find the minimum value of 322 — 62 + 11

o Watch Video Solution

161. Find the maximum value of 13 — 4z — x>

o Watch Video Solution

162. Expression 15 — 7z — 22 will be maximum when x=?

o Watch Video Solution

163. Expression 42 — 16z + 17 will be minimum when x=?


https://dl.doubtnut.com/l/_lHENhaZHT1Jv
https://dl.doubtnut.com/l/_bjDSCIhFUSWc
https://dl.doubtnut.com/l/_1YPygcHUHR5f
https://dl.doubtnut.com/l/_ezscMYJhelfV
https://dl.doubtnut.com/l/_uumzqEvZtnpT

° Watch Video Solution

164. Find minimum value of (9 — z)(2 — z)

° Watch Video Solution

165. Find maximum value of (6 — z)(z + 4)

° Watch Video Solution

166. Minimum value of z2 + —3is
x?2 +1
° Watch Video Solution
167. Minimum value of 22 + —3is

x?2 +1

° Watch Video Solution



https://dl.doubtnut.com/l/_uumzqEvZtnpT
https://dl.doubtnut.com/l/_SuEtZ9OLjPe5
https://dl.doubtnut.com/l/_PfZiOrQqBdTh
https://dl.doubtnut.com/l/_fVtqZ01eIazd
https://dl.doubtnut.com/l/_zRO0SE5yqdWZ
https://dl.doubtnut.com/l/_Mn3zsz5sp05m

168. If /2’ —z+1+

possible for x?

A.O

B.1

C.2

D.3

Answer:

How many value

° Watch Video Solution

169. If z 4+ y = 6 then max value of xy

° Watch Video Solution

170.If @ + b + ¢ + d = 1 then maximum value of ab + bec + cd + da

e


https://dl.doubtnut.com/l/_Mn3zsz5sp05m
https://dl.doubtnut.com/l/_2GAalNySqUeA
https://dl.doubtnut.com/l/_bEYVAOEGrNMa

| ¥ vvatch Video Solution

7. If z+y+2z=21 then find the maximum

(z —2)(y—1)(z+9)

value

of

° Watch Video Solution

172. If xy= 16, find minimum value of x+y

° Watch Video Solution

173.1f (z — 7)(y — 10)(z — 12) = 1000, then find the minimum value of

(z +y+2)

° Watch Video Solution



https://dl.doubtnut.com/l/_bEYVAOEGrNMa
https://dl.doubtnut.com/l/_uZYgilBexJov
https://dl.doubtnut.com/l/_9M9E1LRY10An
https://dl.doubtnut.com/l/_Q2iq2tg8xHdp

